& TOYNAaTECH

TIMONERIA EXTENSIBLE T1/
T1 EXTENSIBLE DRIVING BAR/
BARRE DE COMMANDE EXTENSIBLE T1/
AUSZIEHBARES AUSLOSEGESTANGE T1



INSTRUCTIONS: T1 Cod: DYNO04.05 Q-x Uyﬂa I-EEH

Date: 04-01-2012 Check: 05

1- INTRODUCTION

2- USE AND MAINTENANCE INSTRUCTIONS

3- ASSEMBLY HANDBOOK



INSTRUCTIONS: T1 Cod: DYNO04.05 f&_ ﬂyﬂa I-EEH

Date: 04-01-2012 Check: 05

1- INTRODUCTION

The Dynatech extensible driving bars are the perfect complement for every sling maker who use
our progressive and instantaneous safety gears system. Compatibility, simplicity and usefulness
are the main criterias followed during its design. The result is an important costs saving for our

clients.

The only work required is the positioning of the safety gear in the sling. After that, every
component supplied by Dynatech will be insatalled in a standard way, without the requirement of
any modification, included those caused by the distances between guides because the driving bars

are extensibles.

The sling making cost is considerably reduced due to its standard production, reaching the
following objectives:

- Decreasing of the number of work hours of the people in charge of the sling making.

- Decreasing of the number of work hours of the people in charge of the product quality control.

- Finantial costs saving (Costs produced by the considerable stocks of the different sling- making
elements which would have been needed).

- Delivery time reduction of the product to the client.

- General standardization in all ways: Manufacturing devices, packing, labeling, documentary

order, eftc....

All these points must be taken in care in order to obtain a good benefit and a great competitivity for

your enterprise.

2- USE AND MAINTENANCE INSTRUCTIONS

All the components are very simple and do not need a special maintenance.

The most important points that must be considered are those:

1- The assemly instructions of each driving bar must be respected.



INSTRUCTIONS: T1 Cod: DYNO04.05 .& uyﬂa TEEH

Date: 04-01-2012 Check: 05

2- The screws for the adjustment and fixing of the driving bars to the sling and those for the
components of the driving bar have to be tightened with his respective tightening torque in order to

guarantee the propper fixing and avoid a wrong driving bar acting.

3- The driving bar situation in the sling must be the correct in order to allow the correct safety gear

acting as well as avoid the interference of the driving bar with the hollow devices or the guides.

4- Knocks and dents must be avoided.

3-.T1 DRIVING BAR ASSEMBLY HANDBOOK

1. Once received, the T1 driving bar should be unpacked and it should be checked that all its

components have been received in good conditions (see enclosed components list).

2. ARMS AND HANDLES ASSEMBLY: Each arm (2) must be joined to an arm support (1)
through a screw DIN 912 M8x25 (4) and a serrated washer DIN 6798 M8 (30). Once together,
they must be joined to a handle (5) through two M8 x 16 DIN 933 8.8 (3) screws and two
whasers DIN9021 M8 (6), making sure that the countersink of the handle is on its inner face, —
Fig. 2 —.

Figure. 2



INSTRUCTIONS: T1 Cod: DYN04.05
Date: 04-01-2012 Check: 05

S dENIATeCH

3. GOVERNOR LINKAGE PLACING: One of the screwed arms must be fixed to the governor
linkage (7), through the M10 x 25 DIN 7991 8.8 screw (8) and the M10 DIN 985 Autoblock nut
(9) — Fig. 3 —.

Figure. 3

4. MOUNTING PLATES ASSEMBLY:
It must be taken in care during the assembly the fact that the left mounting plate (16) is
different than the right one (15). The left support cap (11) is also different than the right one
(10). The grooves of the mounting plate will be always at the lower part (See — Fig. 4 —). The

plane face of the support caps must remain parallel to the plate grooves and the thread must
always look to the lift sling as it is shown at figure 4. The other components can be used either

in one side or in the other side.

Figure. 4



INSTRUCTIONS: T1 Cod: DYNO04.05 ¢ uyﬂa TEEH

Date: 04-01-2012 Check: 05 h

The nylon tips (13) must be introduced in each mounting plate in the way shown at — Fig.4 —,
later on, the support caps must be inserted from the opposite side, joining them (with the help
of stright-end pliers) through a security ring (14). Finally, an M8 x 16 DIN 912 8.8 screw (12).

Must be introduced in each cap. The whole process is shown at figure.4.

5. MOUNTING PLATES AND ARMS JOINT: Before joining the mounting plates and the arms, it
should be checked which is the right plate and which is the left one. The arm with the governor
linkage (7) must be introduced in the plate of the side where the lift speed governor is placed
and the arm without the governor linkage will be introduced in the oder plate. The support cap

screw (12) must be tightened in order to fix together the mounting plates and the arms — Fig. 5

Figure. 5

It is recommendable to fix definitively the screw after having placed the driving bar at the sling

In order to improve its adjustment.

6. TENSOR AND SPRING PLACING: The tensor (19) and the spring (17) must be assembled at
the left side of the driving bar, and if it is possible it will be assembled at the side of the
governor linkage (7), First of all the spring and the tensor must be inserted in the arm of that
side. The spring is fixed to the tensor through a M6x10 DIN 7991 8.8 (20) and the other end of

the spring must be fixed to one of the grooves placed on the mounting plate. Finally, the tensor
- 4 -



INSTRUCTIONS: T1 Cod: DYNO04.05 .& uyﬂa TEEH

Date: 04-01-2012 Check: 05

is fixed to the driving bar arm through two M6x8 DIN913-45 H (18). The tensor must be

prestressed in order to allow the spring to keep the handle in the lower position. — Fig. 6 —.

Figure. 6

7. DRIVING BAR AXLE PLACING: The endings of the driving bar axle (21) must be screwed
together with each arm through M8 x 10 DIN 933 8.8 screws (22) — Fig.7 —.

Figure. 7



INSTRUCTIONS: T1 Cod: DYNO04.05 .& uyﬂa TEEH

Date: 04-01-2012 Check: 05

The definitive fixing of the screws should be done after being placed the driving bar at the sling
in order to center the axle to the lift sling. For a correct fixing, these screws have only to be

screwed 90 degrees once they are in contact with the arms.

Once placed the driving bar and the safety gears, the last thing that must be done is to situate
the drill or circlip at the roller pin (PR-2500) or at the handles pin, in instantaneous safety
gears.

Optionally, Dynatech also offers the electrical switch, which is needed to cut current when

safety gear is activated




INSTRUCTIONS: T1 Cod: DYNO04.05

Date: 04-01-2012 Check: 05

dENMareCH

Jod opinjgsns _ B SANIENS

GIEDEIE]

k|

Wi 0D OMed |9 831 ANIO NND3S WIDNYHI 10 L MIS S¥0Id3n
SINOIDFAHIEHOD

e

ATHAFSSY ERENETIN] NIVl I LG - NI 05
w8 OMIAING LL  OLNATNO 2 — “ _ \\KWM\
u \ p— b
Iul — QQ; qn SOLNAMNGD H0d 7 LNy [t i
g2
HOILYNAQ 00SZ-dd IdAL SHYID ALIJVS JAISSITHO0OHd ANV SHYID > r
ALTHYS SNOINVINYLSNI HOFLYNAG ¥O4 QIYA Vg ONIA IS L1 - @ A
__ N
- ! ] @
& 6l Bl 0z @‘ '
(- yy bl loz . &
© fd
e 0 o & | N =
G ¢ 3
8 ! i et
- = N
AN N
] \_1\\ L
S| Y w\\._\ m &
4 i @@e &
0S

W 0oog OL 008 WOHS

STvd JaiNo NFIMLFE FONVISIT




dENMareCH

INSTRUCTIONS: T1 Cod: DYNO04.05

Date: 04-01-2012 Check: 05

~

JUasyanquojAN
/enbnse|d sajjineQ
/sdi sose|d

JUojAu ap sojjinbsen g

Juabuniayeyuy
/selq suoddng
/suoddns wiy

Jozelq sapodos g

/SHUIl esYINqZINS

/ayoneb indde anfog

/ded yoddns ya
Joplainbzi oAode ap alhg |

/S1yoal spe|dp unig)

I18pa (L1)

F_memw“__ /allolp aseq anbeld
/Bunds /2yeid Guunow Jybry
PlIRNA | /eyoslap aseq ede|d |

(61)
peuueds /$yul apedp unio

AnopueL /ayoneb aseq anbe|d
losua
HL_Omco”__.. L /oyeld Bupgunow ya

/eplainbzi aseq eae|d |
/Bunbnssjaqiezualbeg Juasyoe WY (g)
/Anajwi| sbewiuy P /Selq saXy
/S9|XE Wiy

Jabeyul] Joulanog)
JIOPEJWI| QUBWY |

jozelqsalg g

(12)
asyoeuabueisbn
/S)Yo81 8SYINGZIMS JaybBnZ [osy 1sonZ
jdeos poddns 1ybry /sa|pueH /a|xe 1eq Buiaug
joyoalap oAode ap alng | /salopell] Z Jelauown a3 |
- oy 16-01-02 2009 | L TELNYENIDONYLSIO ONNNHOEZNND
o 059095 | LL3ANYWNOD 30 3M¥vVE V130 SINVSOdWOD $3a Novoingal | ADTONHOIL 8 SOINVYNAJ
NN1vad aNv 1S
lozziel /A o MOSIA NOILYD HLLNIAI SLINSNOJWOO Hv8 ONIAMA | 1 HO3J1VNAJ
e PN | L VIHINOWLL ¥13d SININONOD SO13A NOWOHILNIAL




dENMareCH

g“-.

QN 869 NIQ 2qIayosiayoe / S|IBJUSAD S3||2pU0Y / SISUSEM Palelias / SePeIuSp SE|SpuUelY Z
QN LZ06 NIQ uaqgieyosbajiajun / sa|japuoy / Siaysem Japuad / BUOUE E|e ap Sejspuely

aXoIN 8'8 €16 NIQ SluuessyoasuauU| i a1sapuimac) / ua||e suolnes) ; smalos 1as 193008 / ugje sobeliedsg
G'LX0E L NIQ @buusiiayiayalg / @1ains ap xneauuy / sbull Ajunoag / peplinbas ap sojjiuy Z

OLIN G886 NI ISHNN-HI0IGOINY / HO0[GI0INY NEIDT / HOO|(20INY INN MI0|QI0INYy edlan] |

OLXOW 601l L66L NIQ 29nelyaS / SIA / MaI3G / OfIUIO] |

GZXBIN 8'8 CL6 NIQ Usgqnelyog / s3SI [ SM3I0G [ SO|IUIC] ¢

GZXOLIN 6 0L LB6L NIA 2qneIyoS / SIA / Malag [ Ofjlulo] |

OCX9IN 8'8 ¢16 NIA U=sqnelyag / SeSIA [ SMaI0g [ SO||IUI0] ¢

OLX8IN 8'8 216 NIQ Usqnelyos / SaSIA / SMaI0S / SO||IUI0] ¢

OLXBIN 8'8 £€6 NIQ USgneIYDS / SSSIA [ SM3U0S / SO|[IUIO] ¥

L FONYISIOISQTISNY SIA NIGNVYEHHIS / 1L JANVIWNOD
30 354VE VT 30 FIHISSIA / dv8 ONIAIEA 1L FHL 40 SM3IHIS / LL VIHINOWIL VT 30 VIHITIINGOL

- Bova 100104 Aa05 L1 JONYLSIOISOISNY S3A NILNINOWOD 30 ONNNHOIEZ3E
i3S d W Elala’s]
NIBYd jooi0n | FLIANYIWINOD 30 FuuvE W1 30 SLNYSOJWOO S3A NOLLYOHILNIA ADTONHO3L ® SOIWYNAQ

noiva NoaAS | dvE ONIARIT 1L FHL 40 SININOAWOD FHL 40 NOILYOIILNAQI _I_ O M|_|<Z \fD
LLOZ/ELsE £0 _ .

/310 HDIHD
M INOISIATH LLVIHANCOWIL %1 30 SFININOGNOD SOT 30 NQIDYIIFILNIAI

INSTRUCTIONS: T1 Cod: DYNO04.05

Date: 04-01-2012 Check: 05






